Exploded View Spare Parts

WWW.I:l'IHiI'ISEWSpﬂl‘ES.[:I]ITI.HI.I

PBKK-001
PBKK-002
PBKK-003
PBKK-004
PBKK-005
PBKK-006
PBKK-007
PBKK-008
PBKK-009
PBKK-010
PBKK-011
PBKK-012
PBKK-013
PBKK-014
PBKK-015
PBKK-016
PBKK-017
PBKK-018
PBKK-019
PBKK-020
PBKK-021
PBKK-022
PBKK-023
PBKK-024
PBKK-025
PBKK-026
PBKK-027
PBKK-028
PBKK-029
PBKK-030

reducer assy

drum clutch

ring snap

bearing

drive shaft cover

ring snap

rubber

ring snap

cover-clamp

screw M5*14

screw M5*25

screw M6*28
aluminium shaft assy
oil bearing

aluminium shaft
tramission shaft

fix support

screw M5*25

fix support upper plate
fix support middle plate
fix support lower plate
fix shaft

screw M5

fix plate

screw M5%14

gear box assy

ring snap

snap

bearing

big gear

PBKK-031
PBKK-032
PBKK-033
PBKK-034
PBKK-035
PBKK-036
PBKK-037
PBKK-038
PBKK-039
PBKK-040
PBKK-041
PBKK-042
PBKK-043
PBKK-044
PBKK-045
PBKK-046
PBKK-047
PBKK-048
PBKK-049
PBKK-050
PBKK-051
PBKK-052
PBKK-053
PBKK-054
PBKK-055
PBKK-056
PBKK-057
PBKK-058
PBKK-059
PBKK-060

screw

gear box

output gear 19T
output gear 6T
bearing

ring snap

blade plate support
screw

blade plate

blade plate

flange

screw M10*1.25
blade

trimmer head
trimmer head upper cover
screw

trimmer head spring
rope seat

rope

rope support
bearing

snap

trimmer head U inserts
trimmer head cover
trimmer head tip
protector assy
screw

upper plate
protector

washer

PBKK-061
PBKK-062
PBKK-063
PBKK-064
PBKK-065
PBKK-066
PBKK-067
PBKK-068
PBKK-069
PBKK-070
PBKK-071
PBKK-072
PBKK-073
PBKK-074
PBKK-075
PBKK-076
PBKK-077
PBKK-078
PBKK-079

screw
screw

protector blade
screw M12

wheel

wheel support
screw M8

knob

fix link

screw M6*30
screw M6

small wheel spring
screw

small wheel

small wheel fix link
screw M5%*35
switch assy

handle

handle rubber

THIS USES ENGINE JPETSES
CLICK HERE FOR ENGINE PARTS

o




